Top 10 Pathways from Subset A1 -0

Pathway

5 -
4 -
~
(O]
=
]
7 -
o
©
(O]
)
0
=
©
NS
S 2-
-
(@]
i)
|
1- I I I I I I
0 .,
1 1 1 1 1 1 1 1 1 1
Q < 9 9
-
\?} \:50 Qo \'.50 XS Q’z’ Q’z’ O Q’Z’ OQQ’
- Q & Q Q &) S Q )
< & Q N & R & < & &
OQJQ O Ky N XS XS ) O
> \ ) ) &)
@ & K\ S N o \
/ Q 2 s ]
S 0 N3 Y 00\
2 N
& ©
&



Top 10 Pathways from Subset A1 - 1

4
1
0_

™ N
(anren—-d paisnlpy)otbol-

Pathway



Top 10 Pathways from Subset Al - 2

15-

o---...I.I

5-

(8nren—d paisnlpy)oT6o|-

Pathway
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Top 10 Pathways from Subset C1 — 2

15-
—~
()
=
©
T
o
- 10-
4]
9
17
=,
T
NS
o
—
o
o
I

5 -

O -

1 1 1 1 1 1 1 1 1 1
\00 0\6 \\00 \00 ;\\\\6 é\o‘\ 09\6 ,»\\o‘\ @Q‘ @Q‘
¥ & o & ¢ N N & X
N S X R > N QO N QO O
& S & O P &> SN
) <& RN 49 S <P N & Ny
N Q0 & & s{\Q’
& N 2 ?‘b
S N &
S R
) Q
S
&

Pathway



—-log10(Adjusted P-value)

Top 10 Pathways from Subset C1 - 7

20-

A
o1
1

=
o
1

o......

1
& & o S N RS S 2 . e
\)@@\ RS o,,y G\\o & Q c,}\o & @3& c,}\o S
N\ éQ > \{b' & 6\) 6QQ’ Y &2 &
Q© Ny & & & & \? & o <&
& N e® & g & ~ &
o < X S & d N N
K o & K & < N »
i© N & & o & S
2 N S ¢ > o &
O L N N &
S & (g\o © N O
N @ ) < @ Q)
@ Y & & N S
QO ) N O @Q’ @
N4 9 & =)
2 . N
<@ R N
‘Q’b' O
2 ©
@
NS

Pathway



- O
X
o\e&
oxw\
o)
2
- %, 5
%, .
% 9,
S “0
< %
ko) £
2, 0®+
- @ O .\0
%, %,
Qm,v Z
%
%,
9
% 2
%
.\va
- 2.
%@@ ,.v\««\
% %
% O
Ko)
%
© -9 %
_ @o«e v
- %
i)
@) 78
e XYY \0
I} %, S
o % S,
) 0@ L
7)) % )
2, %,
S - %, © ",
e 7 % %
- %, 2
S >
LU < T
> S, O
= % %,
© %, 4
o @e
o )
— - %, 4,
Y,
o .\0Q Q.\mv
o N % A
1 1 1 1 NQ (7
© < N o 0«\\6 %@
(anfen-d paisnlpy)oT6o|- o, %
7 4

Pathway



Top 10 Pathways from Subset D1 — 2
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Top 10 Pathways from Subset D1 — 6
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Top 10 Pathways from Subset D1 - 5
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